2008

Reasoning
(Held on 12 October, 2008)

Directions—((}. 1-5) These questions are

based on the following letter/number/symbol
arrangement. Study it carefully to answer the
questions.
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1.

Which of the following is seventh to the nght
of fifteenth from the right end 7

(A) 4 B T

C) 1 Dy W

(E) None of these

If all the symbols are dropped from the above
arrangement which of the following will be
eighth from the lefi end ?

(A) F
() u
(E) None of these

How many such symbols are there in the
above arrangement. each of which is
immediately followed by a consonant and
also immediately preceded by a number ?

{A) None (B} One

{C) Two (D) Three

{E) More than three

How many such numbers are there in the
above arrangement each of which is
immediately followed by a vowel but not
immediately preceded by a number 7

(A) None (B) One

{C) Two (D) Three

(E) More than three

Four of the following five are alike in a
certain way on the basis of their positions in
the above arrangement and so form a group.
Which is the one that does not belong to the
group 7

(A) BT7# (B) 14T

10.

(C) F2R
(E) WOQE
Four of the following five are alike in a

certain way and so form a group. Which is the
one that does not belong to the group ?

(D) 95L

{A) Iron (B} Copper
{C) Zinc (D) Aluminiuom
(E) Brass

Four of the following five are alikein a
certain way and so form a group. Which is the
one that does not belong to the group 7

(A) 31 (B) 30
cy 47 (D) 41
(E) 43

. In a certain code ROSE is written as #43% and

FIRST is written as 5% #37. How is STORE
written in that code 7

(A) 473%#
(C) 374#%
{E) None of these

(B) 47345
(D) 347#%

. How many meaningful English words can be

made from the letters ADER, using each letter
only once in each word 7

(A) None (B) One
() Two (D) Three
{E) Four

How many such pairs of letters are there in
the word DISTINGUISH, each of which have
as many letters between them in the word as
they have between them in the English
alphabet ?
(A) None
(C) Two
(E} More than three

Directions—{(). 11-15) In each guestion

{B) One
(D) Three

below are four statements followed by four
conclusions numbered I, II, III and IV. You have
























42,

43.

45.

half shaded leaf becomes shaded from the
side of middle. The pair in the figure (E) has
the same relationship.

(B) In element 1I from element 1 of the figure
the design of upper left corner comes at lower
right corner after rotating 90° clockwise and
reversing vertical. The second lower side
design from upper left corner comes at upper
left corner after reversing vertical. The third
design from upper left corner forms new and
the lower right design comes at the second
lower side design place after rotating %0°
anticlockwise. The pair in the figure (B} has
the same relationship.

{A) In element II from element [ of the figure
the designs arrange after reversing as follows
at upper, middle and lower—

Reverse
horizontal
= O e
Head part reverse

horizontal
e s

Reverse
vertical

Upper:

Reverse Reverse

vertical  horizontal
Middle: — —— — ——

Head part reverse

horizontal

Lower: — ——+ —

The same relationship obtained in the pair of
figure (A).

(C) In element I1 from element I of the figure,
one part of same design meets at the left side
of the same design and the shaded part comes
at the opposite part of the design. The similar
relationship represented by in the pair of
figure (C).

(D) In element I1 from element 1 of the figure
the both designs of upper and lower side come
on the each other and the lower side design
does not form at the middle of upperside

47.

48.

49,

50.
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design. The similar relationship represented
by in the pair of figure (D).

. {A) In first figure from second the designs

shifi after reversing as follows :

(i) The design of right side shifts one arm
clockwise after rotating 90° clockwise
and reversing horizontal.

The design of left side shifts one arm
clockwise after rotating 90° anticlock-
wise.

(iii) The design of upperside shifts one arm
clockwise after rotating 90° clockwise.

(iv) The design of lowerside shifis one arm
clockwise after rotating 90° anticlock-
wise.

(E) In first figure from second the main

design rotates 90° anticlockwise and the

designs on it form after shifting as follows :

The half shaded triangle forms after reversing.
(D) In first figure from second the ovutside
design *$* froms at middle after rotating 45°
anticlockwise. The middle design "0’ forms
at inside after rotating 90° clockwisde. The
inside design *J° forms at utside after
rotating 907 clockwise.

(B) In first figure from second the group of
leaves rotate 90° clockwise and the half new
leaf forms ahead opposite of last half leaf and
one and half leaf missed from backside with
this also,

(C) In first figure from second a circle
constructed by the given four different parts.
The design part of lower right comes at upper
right, the part of upper right comes at lower
left, the part of lower left comes at upper left
and the part of upper left comes at lower right.

(i)

Quantitative Aptitude

Directions—(Q. 1-5) What approximate

value should come in place of question-mark (7)
in the following questions ?

i.

(You are not expected to calculate the exact
value.)
(56)* = 2-5385 =7

(A) 4740 (B} 3570

(C) 6600 (D) 7960
(E) 8880

(755% of 523) + 777 =7

(A) 5 (B) 12
(cy 19 (D) 26
(E) 29






equations to find the values of @ and b. Mark

answer :
(AYIf a < b
(BYIf a < &

21.

22,

23.

25.

26.

27.

28.

29.

(C) If relationship between a and & cannot be
established

M a = b
(EYIf a = b

I. 16a2 = 1
II. 32 +76+2 =10
I. al+5a+6 = 0
. P+Tb+12 =10
I at+2a+1 =10
1L B o= z4
I at—Sa+6 =10
I 202 —13p421 = 0
I. 2al+a-1=10

I 1262 -17b+6 = 0

A 200 metre long train crosses a platform of
double its length in 36 seconds. What is the
speed of the train in kmph ?

(A) 60 (B) 48

(C) o4 (D) 66

{E) None of these

Work done by A in one day is half of the
work done by B in one day. Work done by B
is half of the work done by Cin one day. If C
alone can complete the work in 7 days, in
how many days can A, B and C together
complete the work ?
(A) 28

() 4

(E) None of these
In how many different ways can the letters of
the word DAILY be arranged ?

(A) 60 (B) 48

(C) 160 (D) 120

(E} None of these

The number obtained by interchanging the
digits of 2 two digit number is less than the
original number by 63. If the sum of the digits
of the number 1s 11, what 15 the original
number ?

(A) 29

(B) 92

(B) 14
(D) 21

30.

31.

32,

33

34.

35.
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(C) 74
(D) Cannot be determined
(E)} None of these

If the numerator of a fraction is increased by
200% and the denominator is increased by

300%, the resultant fraction is % What was
the original fraction 7

il 10
(A) 11 (B) 11
© 5 D) 19

(E) None of these

The profit earned after selling an article for
Rs. 996 is the same as loss incurred after
selling the article for Rs. 894. What is the cost
price of the article ?
(A) Rs. 935

(C}y Rs. 945

(E} None of these

The ages of Nishi and Vinnee are in the ratio
of 6 ; 5 respectively. After 9 years the ratio of
their ages will be 9 : 8. What is the difference
in their ages 7

(A) 9 years

(C) 5 years

{E) None of these

The simple interest accrued on an amount of
Rs. 84,000 at the end of three years is Rs.
30,240. What would be the compound interest
accrued on the same amount at the same rate
in the same period ?
(A) Rs. 30,013-95
(C) Rs.32013-95
(E) Rs.34,013.95
The total of the ages of a class of 75 girls is
1050, the average age of 25 of them is 12
years and that of another 25 is 16 years. Find
the average age of the remaining girls.

(A) 12 years (B) 13 years

(C) 14 years (D} 15 years

(E) None of these

(B) Rs. 905
(D) Rs. 975

{(B) 7 years
(D) 3 years

(B) Rs. 31,013.95
(D) Rs. 33,013-95

One-fifth of a number is 81. What will 68%
of that number be 7

(A) 1952 (B) 2754

(C) 2256 (D) 1658

(E) None of these
















































